G1

FLAG ChIP

RPA ChIP FLAG ChIP DNA loss RPA ChIP

DNA loss

Bantele_F6_supplement 3

Fun30 WT fun30A FUN30-DPB fusion DDC1-FUN30 fusion
8 8 ~ 573
€ 7 c 7 =
) 9] o — 2h
g 6 g 6 £ 6 - 4h
< 5 N.d £ 5 G >
L 4 Rt L 4 = 4
c 3 c 3 OC) 3
o 2 5 2 o 2
0O 10 20 30 40 50 60 70 80 00 10 20 30 40 50 60 70 80 0 10 20 30 40 50 60 70 80
kb distance from DSB kb distance from DSB kb distance from DSB
256 256 256 256
=128 =128 =128 =128
3 ¥ ¥ ¢
32 32
5 16 5 16 5 16 S 16
= 8 e 8 E 8 = 8
o 4 o 4 o 4 o 4
S 2 o 2 o 2 T 2
L 1 L A e 1 L 1
0.5 0.5 0.5 0.5
0 10 20 30 40 50 60 70 80 0 10 20 30 40 50 60 70 80 0 10 20 30 40 50 60 70 80 0 10 20 30 40 50 60 70 80
kb distance from DSB kb distance from DSB kb distance from DSB kb distance from DSB
2 2 2 2 gﬂ
3 1.6 216 21.6 216 — 4h
S2 =12 =12 S12
< < ! < 1] i <"
Z 0sf” Z oMY ———— 25 Zos "
@' 0.4 @' 0.4 @' 0.4 @' 0.4

0
0 10 20 30 40 50 60 70 80
kb distance from DSB

0
0 10 20 30 40 50 60 70 80
kb distance from DSB

5 10 £
[0 Q
E g €
N Ny
£ 6 N.d 2
g 4 e g
3 2B z
0 10 20 30 40 50 60 70 80
kb distance from DSB
512 512
§128 ‘§128 €
IS
.-E:_J 32 6 32 'E:_)
o 2 o 2 e
o L o
0'50 10 20 30 40 50 60 70 80 0'50 10 20 30 40 50 60 70 80 0
kb distance from DSB kb distance from DSB
2. 2
216 316 21.
£ c
z12 z12
Zo0s8 / Z08 /\/
av. n L.
@' 0.4 @' 0.4
0 0

0 10 20 30 40 50 60 70 80
kb distance from DSB

0 10 20 30 40 50 60 70 80
kb distance from DSB

A

-
O NP OO

—_
W N
N

0
0 10 20 30 40 50 60 70 80
kb distance from DSB

fold enrichment

0 10 20 30 40 50 60 70 80
kb distance from DSB

512 512
5128

32

5 05

"0 10 20 30 40 50 60 70 80

N

fold enrichm

kb distance from DSB

2;

2

- -

2 6 21.6

<Z:12 <Z(1.2

008 §0.8

304 3 0.4
0

8
2

00 10 20 30 40 50 60 70 80

kb distance from DSB

60
50
40
30
20
10

0

0 10 20 30 40 50 60 70 80
kb distance from DSB

"0 10 20 30 40 50 60 70 80

kb distance from DSB

J =

00 10 20 30 40 50 60 70 80

kb distance from DS

0 10 20 30 40 50 60 70 80
kb distance from DSB



